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-10 +10 -10 +10 -10 +10

) 1,040 987(1,092|1,039|1,040(1,102| 982

528 475| 581| b528| 528| 553| 504

505| 505| 505| 505| 505| 542 471

6.5| 6.5| 6.5| 6.0/ 7.1| 7.1] 6.0

) 873| 873| 873| 814| 933| 893| 849

873| 873| 873| 814| 933| 898| 849

(CBR)B/C 1.2 1.1 1.3 1.3] 1.1] 1.2 1.2
(NPV)B-C 167 114 219 225| 108| 203] 132
(EIRR) 4.6 4.4 4.8 4.9 4.4 4.8| 4.5
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(CBR)B/C 1.7 1.6/ 1.8 1.9/ 1.6] 1.8 1.7
(NPV)B-C 420 371| 469| 477 362| 459| 384
(EIRR) 6.6/ 6.3] 6.8 7.1| 6.1] 6.8] 6.4

Cost Benefit Ratio
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Net Present Value
B C B-C

Economic Internal Rate of Return
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